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1 000000 17 min 20ms
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0O(1) < O(log n) < O(n? < O(n log n) < O(nP) <O(a") <O(n!)

0<a<l, 1<b, a>1
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LinkedList labels = new LinkedList();
labels.add(“a”);
labels.add(“b”);
labels.add(“c”);
labels.add(“d”);
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all a21 a31'~'= aln ﬁﬁﬂ?”ﬁg

insert, indexOf, get, remove, next, prev,
clear, first, print
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n
12
2
i=1

int foo(int n){
if (n==1) return 1
int sum = foo(n-1)+n*n;

sum

n (1)

return sum;

sum

[

}

n (2

sum
n(2
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Dijkstra’s Two-stack Algorithm
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AR (Tree)

Insert, delete, member, etc.
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(1+

Dijkstra’s Two-stack Algorithm

((2+3)*(sqrt4)))

5175 (Queue)

clear, front, enqueue,
dequeue, empty

BIARbF1—, T—2ERX)

fEIRECH I L BHEE
FEH
B2 5|
YAk
REAYY
FH1T5
/N



